EARAROBEEIERT — 2 N— IBISH —F

2018518130 (+) 19@£E1H

IGB 3m— 34 7% 3% ‘ [xz] & ‘ [eErsm]  — | & (@) 14000 RE
[AE4£] 1% :230,000” ~ 2#%:53,000” ~ 3#%&:21,000 ™ . 43%&:12,000 M 53 :7,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s o aLiEn -33. —0-0— X — FEBF (£8)
17l gl AL vk—7 i 3 W50 1(3_3)1 2-2-2-1 | 40.7 8 ;1575) il 4o =
LZANT T XX~ B:2=Z/95Vy Y Al #&
R [ii{m}2 :34. —1-1- X - AB®Y (58)
2 3| YTINITIA i g 56.0 1?54)0 L R ° f;) HhE .
XL JANZ N B:LYa1—)b HH B
. R . -3-3- — KBFER (EH)
3 NECEEED: i 3 oA (113114/42) 4-3-3-3 | 41.3 7 ;1_357) Loux i
LTH IR BTALY—Ty F— TEHS
5 7 4 3 | BEEZE 1:34.2 7-6-7-6 |40.3| — 4 452 | BBTIE (1EH)
al7l 7| ¥ A bd— A51.0 (7€) ) | B I7 ks
R:ZXHA-Y 4 B:Osy hX&— b DAY ¢
B3 | WTHRE 1:34.4 5-5-4-4 |41.3| — 6 409 | BART (ER)
EH 6|YE 54.0 %) -2 |BAEF
RiHTIRIAT BNyt —% J—H T — L
o s # 3 | FEES 1:34.7 6-7-6-5 |41.3| — 3 434 | EBTIE (EH)
618110 J—=—XATdJ—ILK ¥¢55.0 (1 1/2) (-5) RAETF
SLHIRTTIR B RN T =L 55> Kis
— — Al : -10-8- - TFURE (EE)
7 A FATLILES i 3 o 1.(325>.1 10-10-8-8 | 41.0 1 <4+521) ez i
b=tk LERY B:TYULTFINILG— HE MR
4 3 | BER—E 1:36.4 3-4-5-7 |43.3| — 2 409 | NEZF (1£R)
8|55 LA INF 54.0 @) -3) FHEER
R:2v— k770> BHHIEI/NF =EH B
BEE= 37 -9-10~ 6| — SIES ((£5)
ol1l1|#¥ro—L2 it 3 =5 1(347)1 9-9-10-9 | 42.6 9 <4+351) EE;@ i
R:TRIAYY Y IR B:Fv—3I TF v A BEE
= CH B 3 | EDEX 1:37.4 8-8-9-10 |43.0| — 10 | 469 |MHRZ (ER)
10/8]9 | AF =71 hNF 540 i 1/2) s |EBEET
L:Ayi=gy—X B:UFaT7UXbE Y < A FHE
® 1—F—@EBIERL
1T=7r= 3,8,5,2,6,10,7,9,1,4
2a=5F= 3,8,2,5,6,7,10,9,1,4
Ja=5= 3,8,2,6,5,10,7,4,9,1
40—F— 8,3,2,6,10,7,5,4,1,9
[ N5
B 8 5,940 714K 3-8 3,920/ e E 3-7 2,600 JEE 2-3-8 44,360
B B 8 1,720M 2-8 4,960/ B = 3-8 16,870 EE 8-3-2 385,610M
3 310H 2-3 2,540 B H 8-3 46,350M
2 960M

ABICOVWTRDTEEERROODE. TR LIV,




